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Exam Name UPPCL Junior Engineer Civil Engineering
Exam Date 13-11-2016
Technical UPPCL_Novl6_JE_CE_Tech

1. A number of filteration wells are connected through porous pipes to a sump well known as i

@Mm@ﬂmﬁ%@@%mww@#@‘gﬁﬁ gl gl

a) Open well/qﬁ'?@

b) Spring / ST

c) Ranney well /Q?ﬁ%?('f

d) Jack well / 3ie T

Correct Answer :-Jack well / 3175?2"

2. Which of the following gas develops explosive tendency in water?

fore=1 & & lerely 3% urett o foewiess ygfed i aerar & g?

a) Sulphur / Heh{

b) Methane / Hda
¢) Oxygen / 3TFdISTT
d) Fluorine / FIRIeT

Correct Answer :- Methane / #raeT

3. Which of the following is used to determine the small colour densities?

T e o1 O et FiiaT o] 13T Fereicl] T Ul ofaTlel H fehdm SITelm 87

a) Turbiditimeter / e8I
b) Nephelometer / fthaitdEY
¢) Tintometer / fe@r#ex

d) Hygrometer / BTSIHTET

Correct Answer :- Tintometer / feerH e

4, If area of the catchment is 62.5 sg.mm and axial length of the catchment is 10 mm, the form factor will be:-

e TR FT T 62.5 sq.mm 3T 37 T SIS 10 mm &, AT BleT e T AT T g1IM?

a) 0.625
b) 0.31
c) 6.25
d) 1
Correct Answer :- 0.625

5. The pitch of the roof truss is usually

6 T8 & T AT 3T ST T glair &1

a) half / 3melr

b) one fourth / Wﬂlﬂ[é

c) double / ITAT

d) three-fourth /?—ﬁ?iﬁiﬂé
Correct Answer :- one fourth /W?ﬂ’-ﬂ?
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6. Where does the Mach number finds its maximum significance?
e TEAT AT 31 ad ITAETAT HErdr gl
a) Flow in closed conduit pipe / §& &iesc 9189 & S&Td
b) In cavitation studies / TEI0T & ETAT
¢) Where fluid compressibility is important / && &&Td &l HgcdT arell S8
d) In capillary studies / hTeRT & ITETTA
Correct Answer :- Where fluid compressibility is important / & &Td hT FgcdT dTell ST91@

7. Incoarse gravels, specific retention is:-
Jrfyseper et oY, RARRISE 3T g d
a) More / SITET
b) Less/&hH
¢) Moderate / QTHTT
d) More or less / SITGT AT hH

Correct Answer :- Less / ShdH

8. As compared to Stone masonry, brick masonry is more:-
Fei g r qerar # fore g 3ifes |
a) Fire resistant / @A el g
b) Costly /HgIT &
c) Skilled practice / @marér
d) Strong /AT

Correct Answer :-Fire resistant / 37T UefY %

9. If both ends of a 20 m long column are fixed, for Euler's load calculations, its effective length is taken to be:-

I FRET 20 m ofFe e & Btil Y herd §, AT Zor $TR AT 8, SHehT ToITal oials AT ST &1
a) 20m

b) 40m

c) 10m

d) 20v2m

Correct Answer :- 10 m

10. is particularly desirable in the materials which are subjected to shock loading.
31 gereif # Jifd giar & ST HTeTd $1RX & IR ¢
a) Ductility / deddl
b) Brittleness / H?RHT
¢) Malleability / 3TETcat= T
d) Toughness ARG E G
Carrect Answer :- Toughness / ﬁ'FIBTQH
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11.If pressure due to submerged weight of the soil is equal to the seepage pressure, the effective pressure:-

e FeT & TR W SAfald ETe, TS 2T o sRTa g1l &, A1 el ST T HTeT:-
a) Remains the same / GHTA g3
b) Becomes zero / = & AT
c) Becomes unity / W?ETEIW’IT
d) Becomes maximum / 31T d# & ST
Correct Answer :- Becomes zero / Q]EETEI’@TIT

12. Which of the following will least affect the per capita demand of water in a city?

Aol & & F37 Ue 28R & ufar Safad Ireit T 3TaeTehdT sl Tl FH THi 6T FIATg?
a) Size of the city / 8L T HATHN
b) Type of population / TAHEAT &I bR
¢) Climatic conditions/mﬁ'ﬂ%
d) Festivals celebrated / HATY JT dTel HIBR
Correct Answer :- Festivals celebrated / FT STl aTel AR

13. Cement and water when poured into the form work for hardening normally takes days to acquire
fixed properties.

STe €I Ue TredT bt hrd 7 T feehioT e fAeT STl §, e g fovare 9ot &1 3rfrarfea 7w
&t AT gl

a) 7
b) 14
c 21
d) 28
Correct Answer :-28

14. If a vertical circular plate of diameter 'd" is submerged in water, what is the depth of centre of pressure from the
water surface?

I =are d' Y U olFaad YeaTa CoIe 3l Telt H 3T 7T, af arelt T Helg @ grel S hr gl s grafe
a) d/2
b) 3d/5
c) 5d/8
d) 4d/7
Correct Answer :- 5d/8

15. If e represents the void ratio of the soil and G is its specific gravity, the critical gradient is:-

e e 7aT 1 Naret 3171t AR G 30T faflrse aea geifr &, aa fhfewar Afste F A=
gram

a) G+1/1-e
b) G+1/1+e
¢ G-1/1-e
d) G-1/1+e
Correct Answer :- G-1/1+e
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16. Capillary action is due to:-

HTRTeRT ITATShaT ST HIROT gl

a) Adhesion / TSI

b) Cohesion / TRITFT

¢) Adhesion and cohesion both / 3THSTeT U GRITFT glaT

d) Neither adhesion nor cohesion / Hﬁmmﬂ'ﬁmm
Correct Answer :- Adhesion and cohesion both / 3THS U GRIfFd glar

17. The magnitude of Earth pressure at rest is generally than limiting active pressure and
than passive pressure.
FERAT IR gt g &1 Al A fafafder videa g a AR P @I AT &l

a) higher, higher / SITET, SATST
b) lower, lower / &H, A
c) higher, lower / SIICT, A
d) lower, higher / &h#H, STT&T
Correct Answer :- higher, lower / SITCT, &hH

18. The following figure represents:-

feam gan e arar e R T 2

a) Vaulted Ceiling Truss / dlecs feeTeH

b) Bow String Truss / 8T T&ZaT cH

c) Arched Truss / 3T o

d) Cannot be determined / FJTAT sTaT oIT Hehdl
Correct Answer :- Vaulted Ceiling Truss / achhﬁﬁr;ﬂ

19. The shearing strength of the soil is due to:-
i. Cohesion
ii. Structural resistance
iii. Internal friction
Which of these is/are NOT correct?

T & Fclel T FTHRUTEATE
i, Ferfed

ii. TIATS TfaRTer

i, 3T TyoT
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a) onlyi/fAFi
b) Onlyiii / R iii
c) iiandiii /i U iii
d) None of the above / ﬁé’%ﬂ'a‘-@'
Correct Answer :- None of the above / Eﬁ'é’ Sﬂ'ﬁ'(?'f

20. Height of collimation method is and labour is required as compared to Rise and fall
method.
TZST US Biol [afer T Jorer 7 gTee 3T ifomrer fafer gugzan S F
ARSIl g

a) rapid, more / &g, SITET

b) rapid, less / dlgT ;e

c) slow, less / f1HY, FHa

d) slow, more / &/, SaTGT
Correct Answer :- rapid, less / dig , &

21. In design of a fillet weld, size of weld for rounded toe of rolled section must not be more than of
the thickness of the toe.

fihele dog 1 TaelT H, GATGER 31T#19T & YATEER fi &l 3T, gATaER FaR T Jiers & b=}
STET AT gIT A1fgUl
a) 1/4
b) 1/2
c) 3/4
d) 5/4
Correct Answer :- %

22. In surveying, a 20 m chain contains:-
AR H, TH 20 m AT H g
a) 50 links / 50 foish
b) 100 links / 100 fol&
¢) 150 links / 150 fofe
d) 250 links / 250 fo&

Correct Answer :- 100 links / 100 IGED

23. With respect to temperature, viscosity of liquids:-

AT & TGt U 5 T AIeAT:-

a) Increase /dedig

b) Decrease / el &

c) May increase or decrease / aa-cf’rmm—cf’r%
d) Remains unchanged / STQﬁaﬁHﬁ?ﬁ'%'

Correct Answer :- Decrease / 'EIE?TT%
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24. Number of arithmetical checks in Rise and Fall method is:-
ST US BTl [afe 7 37k Toaeul deh HI GEAT gl 8:-
a) 1
b) 2
c 3
d) 4

Correct Answer :-2

25.1n Surveyor's compass, the graduated ring is attached to the:-
IR FHFITH #, Y[ Ry U HeAT Bl o
a) Box/ Sieg
b) Needle /#1Sa
c) Sightvane/ 'FI'I',é.E'a?-T
d) Jewel bearing / Saer feafaT

Correct Answer :- Box / Siarg

26. If L represents the staff reading and 'x' as the angle of inclination, error due to non-verticallity of the staff will
be:-
Tfg L T AFET 3R 'x' 3ea1geT 10T HI G2AATE, d6 T & IR TFadd glet T ToTg T 3cToe let aTel G T

HI g4I

a) L(sinx-1)

b) L{tanx-1)

c) L{secx-1)

d) L(cosecx -1)
Correct Answer :- L(sec x -1)

27. Reinforced concrete footing is recommended where bearing capacity of the soil is:-
STet e 1 faafer averar gl &, 98T AS-PIE SHehIc Gicar T Srafiemar &1 A 81
a) Low /ehH
b) Moderate / HEIH
c) High/3=T
d) Very high /Sgd 3=

Correct Answer :- Low / S

28. In hard wood, annual rings are:-
a) Clearly visible and nearer to each other / w@%mwwma‘rﬁ%
b) Less distinct and far apart/t’?@i’ﬁ'qﬁmmﬁﬁ
c) Clearly visible and far apart / WW?{{WWW%%
d) Less distinct and nearer to each other / WE@T*WWWMQ@'%
Correct Answer :- Clearly visible and far apart /wmﬁqum@aﬁ%

29. Which of the following is the longest?

farfafad & 9 gaw e Farg?
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a) Base line /99 (@1

b) Tie line /E'IE“(WT

¢) Check line / ¥ {@r

d) Both Base and Tie line / WUHEI?Q"@T@FIT
Correct Answer :- Base line / S Y@r

30. Decrease in volume of soil mass under stress is called:-
EETa H HET & A H 318 HAT FHgalTr gl
a) Compaction / Haeel
b) Compressibility / GTEIAT
¢) Consolidation / @Rl
d) Contraction / Hehlel

Correct Answer :- Compaction /'wFi"EIFl?-!'

31. Due to excessive pressure of the retained soil, the retaining wall will tend to move:-
HeT & Hcafts gard & HRoT, Refar arer T g SIT=AT AT
a) Away from the backfill / S fthel & gT
b) Towards the backfill / Sehfther ST aRF
¢) Nowhere /@l TgT STTT
d) At its own position i.e. vibration / mwwmmwa«‘hﬁ
Correct Answer :- Away from the backfill / ST € I

32. A bending moment causing concavity upward will be taken as and called bending
moment.
CHT afeger AT T8 A aderar F9< T 3TE, 39 foarSrarg va 3@ dfegar
AHC FETATATE

a) positive, sagging / TsTTcH®, LT

b) positive, hogging / &ielTcHe, 113197

) negative, sagging / FITceh, Jf3TaT

d) negative, hogging / Fi0T=H, gifaraT
Correct Answer :- positive, sagging / &TlTlcHh, afrer

33. The consumptive use coefficient for crops like wheat, barley, flax and other small grains is approximately:-
3Tg, STef, Felery Udl 31 I AT STl HH A ST I I[0Tieh BIcT § ST TaT:-
a) 0.6
b) 0.66
c) 0.9
d 11
Correct Answer:-0.9

34. For a body submerged in water, metacentric height for rolling condition will be etacentric height
for pitching condition.
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qreft 7 3o g fevehrar & forw, Afeiar feufar iy Aerifees Fare Rifder feufa i ferdifes Sag @

g gl

a) lessthan /&

b) more than / 3fer

c¢) equal to/s{ET

d) unrelated to / GEfd Far

Correct Answer: - less than / &hH

35. The magnitude of dip at the equator is:-

AW RBIHFAGT__ Fidrgl
a) 0°
b) 22.50°
c) 9o°
d) 180°
Correct Answer:-0°

36. Frog is provided onto the bricks to:-
i. indicate the manufacturer's name
ii. provide a key for mortar
Correct among these is/are correct?

Sl IR laT eaT SITaT &

i. IcUTeeh T ATH &2iTe & farT

ii. AR & fav "fr 2a F v

ARl q/AT T8

a) Onlyi/fAWi

b) Onlyii/fAFii

¢) Bothiandii/i3Tiigmt

d) Neitherinorii/adari3iR&a&rii
Correct Answer:- Both iandii /i 31T ii @l

37. Rivet joint is:-

Raesge __ @idre

a) Alapjoint /oT FEe

b) A butt joint / §€ S8€

¢) Lap and butt joint both/ﬁﬁﬁ?@&’lﬁ

d) Neither lap nor a butt joint / T AT T A T & §€
Correct Answer:- A butt joint / §€ SIS¢

38. When the flow is such that one third of the static head is consumed in pipe friction, the power delivered by the

given pipeline will be:-

Ife 9819 $6 38 YR ¢ o R i & e foers feed r@ua wgw avor A g 31w, af Ruarv aga arsa 8

fFd T 3T gram
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a)
b)
¢
d)

Zero / YT

Unity/Wé‘

Same as always / gHAT ST
Maximum / 31f8&dd

Correct Answer:- Maximum / 3Tehd®d

39. A good malleable material possess

Ueh 370 TaTcae 9Ty & g‘ram_'

a)
b)
c)
d)

low degree of plasticity / CHATIEC THET &l fald=T T
high degree of plasticity / CATTEETRET T 3= T
necessarily great strength / 3ifaad &9 & 3ITa gy

necessarily high degree of ductility / deddT T 3=d FX

Correct Answer:- high degree of plasticity / CoITTIEe e &l 3Td X

40. As compared to high rate filter, standard rate filter requires land area.

Fe e ftheeT T ool H, FeUss &X heeT &l STl & &l a9 dehdr

a)
b)
c)
d)

more / 31T
less / hH
equal / AT
no /ool

Correct Answer:- more / 318

41. Piezometer is suitable for fluid related measurements which are

draHIeY ga Tert o 3 ATY g SULTT & Sl fehi-

a)
b)
c)
d)

small and positive / B¢ TF YaTTcHF &
small and negative / BIE T FONHS &
large and positive / §8 Ud UaTcHS &
large and negative / §2 Ud FUTcH &

Correct Answer:- small and positive / BIC Ud €=ITcH® &

42. A RCC column is said to be short if length to diameter ratio is:-

Teh JREHT hiciH i ANE FHgT ST & STe 3HehT olellg T SATH T 3fuTe]

a)
b)
c)
d)

Less than 50 / 50 & &
Less than 30 /30 @ &H
Less than 25/ 25 ¥ &
Less than 15/ 15 @ &H

Correct Answer:- Less than 15 / 15 ¥ &
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B i
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43, If B is the width of footing, W is the load per metre and P is the safe bearing capacity of the soil, then the correct
relation amonest them will be:-
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Ife fore wider dhr <iters b, wfar Hiet o L 30 wyer i gefara faafer arerar p §, d 3o e wdy woeeyr
gl

a) W=B/P
b) B=W/P
c) P=WB
d) B=WP
Correct Answer:- B=W/P

44, For increasing the inflow of water to sub surface water reservoir:-
39 HAE TR H STel & iAaTg I FeT 8-
a) Intensity of the irrigation is reduced / ﬁirréﬁqamaaam?ﬁ%
b) Intercepting drains are constructed / SETeT ATelT ATTORAT T fHTOT AT SITAT &
¢) Lining of canals is done/ﬁ%ﬁﬁmﬁm%
d) Natural drainage of the area is improved / &9 & Tehfdieh STel fenTH & HURT ST &
Correct Answer:- Natural drainage of the area is improved / ma?wmc%?aﬂﬁmmﬁgmm%

45. Convective precipitation is caused due to:-
i. Upward movement of air warmer than its surroundings
ii. Air striking mountains
Which of these is/are correct?

HageT 1T T FROTEIAT &:-

i. ATATAROT / 3T §aT T FWR 3STAT

ii. AT T ThRTeT aTell gaT

AN O Pl W/TTHET 67

a) Onlyi/fAWi

b) Onlyii/fAFii

c) Both of the above /i 3 ii gleif

d) Neitherinorii/adari3iRa&Ti
Correct Answer:- Onlyi/ % |

46. For laminar flow, Kinetic energy correction factor is:-
AT FgTa 7 T ot | GUR 0T gl
a) 1
b) 1.33
c 2
d) 2.7

Correct Answer:- 2

47. If the difference in the reduced levels of the end points is H, slope correction for a slope distance 'l' will be
IfE BRI & NEYES oael 1 3 H' §, df GolleT T ofa1g'l' 8] Gellel GLT T HIeT T g1l
a) H/l
b) H/2l
c) HYI
d) HY2l
Correct Answer: - H/2I
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48. About of the total storage of the reservoir is assumed to be the dead storage in a dam reservoir.
FTET ST H, ST T STITHIT I 38 TSI ATAT SATAT 81
a) 10-12%
b) 20-25%
c) 25-35%
d) 0-5%
Correct Answer: - 20-25%

49. Production of incrustation and sediment deposits are found in:-
qUET UG dADC TaTT T 3G H T AT &
a) Acidic water / 37&lIg STl
b) Alkaline water / &8I STl
¢) Acidic and alkaline water both /meaﬂa’m‘r
d) Neither acidic nor alkaline water / & & 375clrd o &1 &I FA
Correct Answer:- Alkaline water / 8T STeT

50. When a bar of length L at temperature T under load is free to expand, thermal stress generated is equal to:-
9 U IR R AT 915 L, T AT9AHTe 0 [GEaR e & forw Taa T gIar §, dd FSH1T Ga1a ol AT 8191:-
a) LT
b) aT
c) LaT
d) Zero /T

Correct Answer:- Zero / [«

51. If P is the population (in thousands) of a city exceeding 50000, what will be the water requirement (in Kilo litres)?

e fheT 28T 1 TAHET P(ESR H) 50000 & SITET R, AT foheil olieX 3 TTeit ST 3TaRTehd fohceit g1f?

a) 100P
b) 100P?
c) 100vP
d) 75vP
Correct Answer:- 100vP

52. The foundation whose length is considerable greater than its width is:-

VT BI33e T arg 3Hhr e & Frhr saerg, a8 2argl
a) Footing/ ‘{Ig'ﬁ'c‘T
b) Combined footing / HeT88 ‘_ijé'?T
c) Strip foundation / FCT BI38er=
d) Raft foundation / TFE BI3S2M
Correct Answer: - Raft foundation / TFE BI3S20T

53. For a given discharge through an orifice meter, the magnitude of Coefficient of discharge lies between:-

IRE ez & v 1w sgrar 8, wgTa 1 FEuish & T grar gl
a) 0.51-0.65
b) 0.64-0.76
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c) 0.76-0.85
d) 0.86-0.98
Correct Answer:- 0.64-0.76

54. In which of the following levels, the telescope is supported by rigid sockets at the either ends?

frafaf@a # & v e 7 SfoiT 1A B W 319 Hiche ¥ AT @A 87
a) Dumpy level / 3&IT oiael

b) Wye level / a3 ddel

c) Reversible level | Radear gt

d) Titling levels / ET8efoiaT olaer
Correct Answer:- Reversible level / aefaol ofaer

55. Both the end stations are free from local attraction if the difference between fore and back bearing of a line is:-
fe gy @ & BR 3K 9 feaRer &1 377 BT g, dl &fell G & T TATAT JTHNOT § o
g gl
a) 0°
b) 90°
c) 180°
d) 270°

Correct Answer:- 180°

56. If 'd' is the gross diameter, minimum pitch of a riveted joint must be:-
afe 'd' Hevel SATH &, A RAT STge T wgatas e graf
a) 1.5d
b) 2.5d
¢} 3.5d
d) 4d

Correct Answer:- 2.5d

57. In the graphical method of obtaining flow nets, if the lowest flow line conforms to the bottom boundary
conditions, the flow net :-

Tl 7€ UTC el hl IMTheher 1011 H, TTe W AT 2T Tall T@T, 1381 IR e AT & A1 AT @icir g ol Tl
A 1
a) Iscorrect/ e
b) Needs asmall adjustment/ﬁmﬁmﬁmmg
c¢) Needs a bigger adjustment / ﬁa@aﬂm@rmw%
d) Can't be corrected / H;HRTH@'G!TWT
Correct Answer:- Is correct / TgT &

58. When temperature increases, viscosity of the soil whereas its permeability
ATIhH Teat & T, FHET hr et g STafeh 3HehT qRIFIAT gl
a) increases, increases / aar—f’r EIET—TT
b) increases, decreases / aa'c?r,'ara?fr
c) decreases, increases / El'c‘.?ﬁ, aﬂ?ﬁ'
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d) decreases, decreases / &dl, g&dr
Correct Answer:- decreases, increases / 'El'c'._cﬂ', EIBT-?I’

59. According to Transit rule, correction to latitude of a line should be proportional to the:-

TifoTe foareT & 3eTHI, TW@T o 378T7er T IR & AT gIeT AR Tl

a) Length of transverse leg / EIETH ST T IS

b) Departure / fBUmEiX

) Sum of departure and length of transverse leg / f3UTRIR U& EIFad 3T T SI€TE &1 13T

d) Product of departure and length of transverse leg / WWWW%W@HW
Correct Answer:- Departure / f3Ur=iR

60. Which of the following theory over estimates the elastic strength of ductile material ?

fova=t 31 & lera fAgia forelt doar aarel T Jeameer |rere T 3170 SieTHTe ol 82
a) Distortion energy theory / awgor FaT g
b) Haigh's theory / 83T flgid
¢) Maximum principal strain theory / ﬁﬁ"ﬂﬂﬂ'ﬁﬁqﬁ@?%ﬁ
d) Maximum principal stress theory / Hiaass AT T8 241l
Correct Answer:- Maximum principal strain theory/ﬂ'ﬁ*ﬂmm@?w

61. Which of the following foundation is used to transfer the heavy structural loads from columns to soils having low
bearing capacity?

T 7 B HleTaT B3, FieTd T FTa TITeA! HT P foveT FaaRar a7e7ar arell 7aT N FATaRd Ty ?
a) Inverted arc footing / §Ta¢g 3Teh Hicar
b) Cantilever footing / WW
c) Grillage footing / faretst Bfdar
d) Combined footing / $aT88 \?jﬁ?T
Correct Answer:- Grillage footing / @1eisT Bfear

62. For perfectly dry soil, degree of saturation is:-
e quter: Tl a7 & v, e R &
a) Zero /YT
b) 0-1
c 1
d) Infinite / 319
Correct Answer:- Zero / [«

63. In the vane shear test of soil, the length of vane is usually kept equal to __its overall width.
T & o7 R adieTor 3, 3 Y oleaTs WA 3 e ST &1
a) half / 3mrefY
b) one-fourth /Uﬂv‘?ﬁ?—ﬂé

c) double/ T_':I?fl'

www.ErForum.Net

www.ErForum.Net



www.ErForum.Net Page 14

d) four times / TT=AT
Correct Answer:- double / I[T

64. Polar moment of inertia of a solid circular shaft of diameter 'd' is:-

T 'd' SATH & SIH FedTehR TS T GToi AT T Forerar grargl
a) nd/4
b) nd/64
c) nd‘/32
d) rd'/e4
Correct Answer:- nd*/32

65. At hinge, bending moment will be:-
fBeat W, afegar AT T AT grem
a) Zero /YT
b) Low /faeT
¢) Moderate / QTHCT
d) Maximum /3T
Correct Answer:- Zero / [«

66. In the design of Doubly Reinforced Beams, if actual neutral axis is greater than critical neutral axis, the section
is:-
saol Qg=his 1 H, AfE 31T gt 38T 1 AN foh{Cehel =gg o 3787 3 ST @I R, A Vel g1
a) Balanced/ Hﬁﬁﬁ
b) Balanced or over reinforced /ﬂa,ﬁamaﬁﬂﬁmg
c) Over reinforced / Bﬁm
d) Under reinforced / mﬁsm?mg
Correct Answer:- Over reinforced / 31T Y8

67. A single acting steam hammer weighing 2000 kg and falling through a height of 2 m drives a pile an average
penetration of 0.5 cm under the last few blows. What will be the allowable load (in tonnes) for the pile?

Teh 2000 kg 3 Tehol Tield TEH §HR 2 m T FeTS @ R 370+ Tl e JATaTal 7 drgel A1 e 0.5 =T

¥ | arger & T T (@A ) FAT g
a) 40
b) 80
c) 88.88
d) 92.44
Correct Answer:- 88.88

68. The curing time in cast-in-situ concrete piles is:-

b) Moderate / HEIH
c) High/3=d
d) Very high /EE?FEW
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Correct Answer:- High /3=

69. The minimum pressure exerted by the soil on the retaining wall is known as:-
HeT & garT RefAeT arel 9T o1& arell #gH aTel FEATAT &l
a) Seepage pressure / 89T &S
b) Passive Earth pressure/mﬁm
c) Active Earth pressure / UTded IR
d) Earth pressure at rest / TR 3y a1

Correct Answer :-Earth pressure at rest/ﬁﬁﬂmm

70. English bonds used in bricks is:-
STAYgFdsRaIey @il
a) Very cheap/ag?ﬁzﬂ?ﬂ
b) Costly / H#geTT
¢) Economical / RGBT
d) Cheap as well as costly / FEIT A GEATGI=AT
Correct Answer :-Costly / Hg3TT

71. In a venturimeter, to avoid flow separation, angle of divergence should not be greater than:-
SHICT #, TETa FIFHIOT § T g, STST01 & 10 &l Ao W SITET AT gleTT Tyl
a) 3°
b) 7°
¢ 12°
d) 20°

Correct Answer :-7°

72. In context with Water Supply, working head is generally taken as of the critical depression head.

SToT 3fet o \T98T #H, FHratcHs ofi, fhfeae fevrer ofrd &1 foram STar g1
a) three times/ﬁ*{FIT
b) one-third / Wﬁ?‘lé’
c) two times/ Cuch
d) half / 3merm
Correct Answer :- one-third / Teh TgT8

73. If 'R'is the radius of the circle, so for a 20 m arc, the degree of a circular curve is:-
Ife; foheT ged & forw Brsam v §, a1 20 m & a9 g, FecTehR dsh T TRATUT §19T:-

a) 1718.9/R
b) 2019/R
c) 1145.4/R
d) 1765.9/R
Correct Answer :- 1145.4/R
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74. Because of large stream discharge, irrigation is more suitable for permeable soil.
3T FEIH §Td & HROT, TR 7eT & forw [GEIEKIBCERDICIE
a) Free flooding / T FATS4T
b) Check flooding / e FATSaT
¢) Check basin / ¥ 8T
d) Furrow / Br
Correct Answer :- Check flooding / Tah FeATS4T

75. If a thin cylinder is subjected to a fluid pressure of 0.2 N/mm?® whose thickness is 5 mm and diameter is 20 mm.
What is the magnitude of Hoop stress generated in it?

Ife U Ueel SeleTrhR FIEhT HIETS 5 mm 3R ST 20 mm &, # & H1 816 0.2 N/mm? §, 383 3c0e+ g9
CETd T HIeT FAT IITT?

0.2 N/mm?

0.4 N/mm?

1.4 N/mm’

0.8 N/mm’
Correct Answer :- 0.8 N/mm?

a)

d)

76. Pneumatic tyred rollers are used for compaction of soil of low plasticity.

AT TR A T YT HH Confee faer =i HeT I gdlel g fohar STaT &l
a) sandy/ddr
b) loamy /@Y
) silty / [@eer
d) plastic / ToITiEesH
Correct Answer :- silty / f&eer

77. The resistance offered to slipping of steel bars from concrete is due to:-
i. Pure adhesion
ii.Frictional resistance
ili. Mechanical resistance
Which of these is/are correct?

hehie T FET aR & WTehet 3 YT 2o arely Tfaer -
i. 2[€ 3

ii. TOT iR

iii. TTTeh TcRIer

e F a/arwla wdrg?

a) onlyi/mi

b) ii and iii / i U iii

¢) iandiii/iTdii

d) i, ii and iii / i TG i

Correct Answer:-i, ii and iii / i,ii T ii
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78. For basic requirements of water supply, drainage and sanitation, as per the IS code, what is the domestic water
demand in Indian cities and towns?

STet 3TYfel, fehTe Ue Faeadr S Her{d 3TaRTHdl 8, 1S 1S & AR, HRAT A Ta AIRT 3 T el
AT fhdaT giar g?
a) 135 litres per head/day / 135 oltexX 9fa eafaa/fea
b) 200 litres per head/day / 200 olieX i et d/ =T
) 240 litres per head/day / 240 oex 9fa eafFa/fea
d) 340 litres per head/day / 340 oilexX S safea/fea
Correct Answer:- 200 litres per head/day / 200 ofeX Ufay safa/ e

79. In Marcus's method of designing two way slabs, thickness of slab is generally taken to be of
shorter span.
gface i Toter o 7T I AT faft #, Tole hr AL BT 91T & HFId: grargl
a) 1/10
b) 1/20
c) 1/30
d) 1/40
Correct Answer:-1/30

80. Deflection of beams in pre-stressed concrete structures w.r.t. RCC structures is:-
g A1 Shehie Grelt 31 Sl T STahrd T felT T Jotelt 7 grar el
a) Equal / sRTeX
b) Less/&H
¢) More/ 38
d) Less or more / && 3720aT 38
Correct Answer:- Less /&

81. With tuberculation of the pipes, roughness of the pipes and carrying capacity of the pipes

UTST & 3G & T YIgY 1 S & 3 oT &THaT gl
a) increases, increases / F&dT, gadr

b) increases, decreases / SGdl, gedr

¢) decreases, increases / °Hcdl, aa?ﬁ'

d) decreases, decreases / 'il'd?ﬁ', gedr

Correct Answer:- increases, decreases / §¢dT, Hedr

82. Which of the following irrigation technique is preferred where area has a irregular topography with excessive
slope?

fovet 37 & srcafres gonet iR srforaff drer w9 arer 13 3 wierel foarg fafer sgera v smer g
a) Sprinkler Irrigation / ﬁqm'\rfh?rré’
b) Sub-surface Irrigation /Gﬁ'mm
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¢) Furrow Irrigation / B fA=TS
d) Border Irrigation / a"IJ's",Tﬁil'l'g“(
Correct Answer:- Sprinkler Irrigation / T&SeeR fATTS

83. If the porosity of a soil mass is 0.5, its void ratio will be:-

e forelt #geT &t Eerar 0.5 &, & 38ehT Rerar 3egar gram

a) 0.2
b) 0.33
c) 05
d) 0.71
Correct Answer:-0.5

84. If 'd' is the diameter of a bubble and 's' represents the surface tension, what is the pressure inside the bubble?
Ife; el Foraer T e 'd 3R 's' I8 TATal &, A ToIgor H 3wt SilciTeh el AT gIam?
a) 4s/d
b) 4d/s
c) 4s/3d
d) 8s/d
Correct Answer:- 8s/d

85. The centre of adjacent rivets in the same row are separated by a distance known as:-

TS AR H &l FHTE Rae 3 dra i glr HET ol
a) Edge distance / mq@r
b) Lap/od
¢) Pitch/ &=
d) Gauge distance / 33T g
Correct Answer:- Pitch / =

86. Presence of in water enhances the process of leaching.

S 1 3ufeafcr difRer i fehar #r sercdr &1
a) Nitrogen / AlTSgISTeT
b) Carbon-di-oxide / magré'sﬁaaqﬁg
¢) Sulphur / He®I
d) Sulphur-di-oxide / 5% 8T8 3iTFaTSS
Correct Answer:- Carbon-di-oxide / FTeeI-8T8-3TFSS

87. Hvdraulic pump will start pumping only when pressure head is manometric head.
gTegITore uq &t it afuer e e OeR oy, HarAfee o gram
a) equal to / & ST
b) greater than / & STET
c) lower than / A &H
d) greater than or equal to / & SRS IT SATET
Correct Answer: - greater than or equal to / 3 SR IT SITET
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88. Which of the following is not a brittle material?
oot 31 & 7T U $eX e AR
a) Copper /dl&€T
b) Cast iron / &oldT ollgT
¢) Concrete / &shIe
d) Glass /&
Correct Answer: - Copper / dT&sT

89. How many horizontal web members are there in Compound fink truss?
Hurss fhes e & fhas s g weem e &2
a) 1
b) 2
c 3
d) 4
Correct Answer:-2

90. For the construction of domes:-
a) Heavier stones are preferred / SR Gc2RT T YrAfBTaT &1 AT &
b) Lighter stones are preferred / goh UcRT &l UTU &ehal &l SATdT
c) Stones are not preferred / 9c2RT T TAfed 5| fRATATATE
d) Both lightier and heavier stones are preferred /mwmaﬁmﬂaﬁmuﬁmaaﬁﬁ%
Correct Answer:-Lighter stones are preferred / oo IR &bl WTATHSHAT &1 STAT

91. If an incompressible fluid enters a pipe with a velocity of 4 cm/s and moves out with a velocity of 2 cm/s,
calculate the cross sectional area of the inlet if the diameter of the pipe at the outlet is 7 cm.

fe F1E 3aNFT g fFET aT 77 4 cmi/s Hr afa T A FIATE 3R 2 cm/s Hrafay T SR Aperar s, 9T

T2 T HTEY I &TThel 311l 1L T IIST fehre T A1 H 7 cm B
a) 154 sqg.cm.
b) 77sg.cm
c¢) 14sg.cm
d) 7sg.cm
Correct Answer:- 77 sq.cm

92. If the velocity of pressure wave generated is 2 m/s, the value of critical time is:-
I Icarfea are AT P a1fey 2 m/s &, O Brferar g A= gram
a) 2s
b) 4s
¢) 1s
d) 05s
Correct Answer:-1s

93. The articles prepared from refractory clays mixed with stone and crushed pottery are called:-
311FeT el ey 7 g va o g fvedy aTe et sS85 el . gl €2
a) Tiles/Clged
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b) Terra cotta / eI ShIeT
c) Porcelain/ Qe
d) Stonewares / TEIHAAAT
Correct Answer: - Stonewares / T&IHAAAT

94, Water hammer pressure can be considerably reduced using:-

T ST Feh AT g% GIE I THT 8¢ oIeh haH [hAT ST FehdT ¢
a) Slow closing valves / HI#HT @elet aTell aTod
b) Rapid closing valves / dfg {g‘rﬂofl CIGIGIES)
¢) Both slow and rapid closing valves / i Td clier Gele aTell aled glai!
d) None of the valves / T fordr area
Correct Answer:- Slow closing valves / T elet aTell aTed

95. The tangent distance of a curve of radius 'r' deflected through an angle of 60 degrees will be:-
60 f33ft & 10T A Bt ve Bsan v arel g i dafe g graf
a) r
b) rv3
c) r/V3
d) Infinite
Correct Answer:- r/v3

96. Zone of the soil affected by capillary action is:-
hfRveRT gfehar & werfad Her & REa FET AT &1
a) Capillary fringe / &fR1ehT et
b) Capillary zone / & RYRT FATeT
¢) Capillary fringe or Capillary zone / & f2ieT bt 3r2rar h vt SeT
d) Neither capillary fringe nor capillary zone / ¥ AT ShTRTeRT fUhaT 3T AT &7 HTURT FTA
Correct Answer: - Capillary fringe or Capillary zone / 3 f1arT oot 372raT ShfverT STeT

97. If the whole circle bearing of a line is 150°, its reduced bearing will be:-

e feredt Y@ & wrqet gea faafier 150° 8, dr 3whr Reges feafer A gram
a) S

b) W

c) S60°E

d) S30°E

Correct Answer:-S30° E

98. On increasing the water-cement ratio, strength of cement paste:-

ATetT-EIHT 3T 3T dgTa I HIAT 9Fe i 2fFad !
a) Increases/S&dlg

b) Decreases/ gearg
¢) May increase or decrease / S&dr ATgedl g
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d) Doesn't change / 1T &oidl &
Correct Answer: - Decreases / 9€dl &

99. Contour maps cannot be used for:-
i. Calculating water capacity of reservoirs
ii. Determing the catchment area of drainage basin
Which of these is/are correct?

S HY T T SR Foh T ST HeheT:-
i. STCITRIAT T &THT HATIT 8]
ii. ST TAPTH Sf8 & TATRE &7 T IdT STl
a) Onlyi/fAWi
b) Onlyii / fAFii
¢) Bothiandii/i3iRiig&T
d) Neitherinorii/ @ isT&Tii
Correct Answer:- Neither i norii / & i sT &l ii

100. The central triangle is said to be equilateral if slope of simple fink truss is:-
e arA=T s oq & aolret E’f?-ﬁ%’,a’rm‘aﬁaia'ﬁﬂﬂmgﬁaia'q»sl ST &1
a) 30°
b) 45°
c) 60°
d) 90°
Correct Answer:- 30°

101. Increase in capillary rise of water in soils depends upon:-
i. Void ratio
ii. Grain size
The correct amongst these is/are:-

HET H 5ol & hRIehT Tt fe AR HaT e

i. Rerdreqard o)

ii. JIeT 3THR T

SN W T T/ TR 2

a) Onlyi/fAWi

b) Onlyii/fRAFii

¢) Bothiandii/i A< iiamr

d) Neitherinorii/adari3dRAarii
Correct Answer:- Both i and i /i 3T ii &1

102. Plastic strain is generally times the elastic strain.
CAITEE cTolTd SelllEeah celld T TSI AT B &1
a) 2tod /2384
b) 5t010/5% 10
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¢) 10to15/10¥ 15
d) 20to25/20825
Correct Answer:- 10to 15/ 10¥ 15

103. The safe limit of chloride content in public supplies is generally:-
afecteh Heolls H FARTSS hT AT T FRI&T HIAT HHAI: giargl
a) 45ppm
b) 115ppm
c¢) 250 ppm
d) 375ppm
Correct Answer:- 250 ppm

104. The obtained graph in Maximum Principal Strain theory is a/an:-
AfFraas Riffue &« 2318 F urcg e grargl
a) Square /T
b) Rhombus/mﬂﬂiﬁ
c) Hexagon /W3t

d) Ellipse /&reiged

Correct Answer:- Rhombus/'\qﬂﬂgﬁiﬁ

105.Which of the following controls the entry of silt and prevent river floods from entering into the main canal?

foF=T 7 & 777 Xa1 AR AT 1 916 Y AT g TH 3T § Aol 62
a) Head Works / s ass
b) Branch Canals / §TT halTol
c) Distributaries/%"r_cfl?ﬂ@ﬁ'\q
d) Field Channels / ®Te8 daTel
Correct Answer:- Head Works / 2fi§ &

106. support the masonry in opening of doors and windows.
, s va caarst 1 Wiee & a1 $T Age #d ol
a) Lintels/ folesr
b) Puriins/ﬂﬁﬂ
c) Girder/?I'.éaT
d) Rafters /TWFET
Correct Answer:- Lintels / fofeer

107.In the design of singly reinforced simply supported beams, the maximum bending moment will be (Given W is
the maximum load and | is the length):-

Uhol Jg=pIus ATl gaIds ey i e &, 3fads afeger Adie 1 Ae Far g (Rarmarg fFw
31TFaH IR ve | TS §)

a) Wi/64

b) W/8F
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c) WIY/8
d) WI/32
Correct Answer:- WI*/8

108.Which of the following rock is extremely fine-grained in structure?

fAe= oI & & Flerel TgTe TXa=1 § 3cda geaAg?
a) Basalt/SdTee

b) Granite/ﬁﬂ'l’:'.?

c) Calcite /WT%’E

d) Dolomite /31?-!13:“33'

Correct Answer: - Basalt / SHTee

109.Ultimate load method of designing a RCC structure w.r.t. elastic theory method is:-

HRETHT EIHAT T TAT H gelTiEeeh LA fafer i Jorer & dredmie o [afer grar gl
a) More economical / 3778 feRtATIcHr
b) More costly / 318 Hgafr
¢) Equalin cost/ eTT H AT
d) Not comparable in costing/mﬁ'aﬂ?ﬂ'ﬂ'ﬂﬁ'
Correct Answer:- More economical / 31T8ra feRtRTrcir

110.For single riveted joints, the expected efficiency of the steel pipe joints is approximately:-
R Tehel Raes Sige & AT, Ther sy JTec T ATATad GaTaT SHRTedaT BTl

a) 047
b) 0.63
¢) 0.75
d) 09
Correct Answer:-0.63

111. Overall depth of T-beam for medium loading of continuous beams is assumed to be of the total
span.
forar e hr Fvearer ofear & T-afteT & qot 78 0E Foof FeT T grefh

a) 1/12to 1/15
b) 1/10to 1/12
c) 1/15to 1/20
d) 1/20to 1/24
Correct Answer:- 1/12 to 1/15

112. The moment of resistance of a balanced reinforced section is obtained by multiplying the lever arm with:-
forelt Hafora regstrer 1 Sfaies A ST s & T I[OTT ek T GBIl 1
a) Compressive force / Gald dcf
b) Tensile force / ICRICER
c) Either compressive or tensile force / &aTd & IT T@ATG &l
d) Compressive and tensile force both / garg 3R WA s aar
Correct Answer: - Either compressive or tensile force / &&Td §of T &1 §f
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113.

At the free end of a shaft, angle of twist is:-

fard emFe o HeFd fa o), FRIg Hror gral

a)
b)
c
d)

Zero [ eI

Low / &=
Moderate / HTHT
Maximum / 3T

Correct Answer:- Zero /

114.

A clay which contains Kaolimite has an activity value of:-

U FeT oA HIHITAATSE BT &, 36eh! UTde fadl Al grar

a)
b)
c)
d)

1
0
0.4
0.8

Correct Answer:-0.4

115. At constant discharge, to increase the head, hydraulic pumps are:-

PR 819 W, 2N Sgret &, el g -

a)
b)
¢
d)

Connected in series / AU H FETATATE

Connected in parallel / GHTaR H JABTATAT &

Connected in series or parallel / 20Tt 3rIaT THAT F ABT ATAT &
Not connected / ST1ST a1 SITdT &

Correct Answer:- Connected in series / 0T & 5181 STATE

116.

a)
b)
c)
d)

Page 24

If at a place, the magnetic bearing of the sun at noon is 182°30', the magnetic declination at that point will
be:-

Tfe; el TTeT o, Grg 3§ 1 g aeni e T AT 182°30' §, A 39 Foig IR GraehI glenra T g1em?

2°15'
-2°30'
2°30'
3°30'

Correct Answer:--2°30'

117.

Which of the following is not a part of Prismatic compass?

TR Y a7 [T SO 7 1797 78T 7

a)
b)
c)
d)

Lifting pin / ToIToFear T
Objective vane / 3iTexfFed AT
Spring brake / TE9RT 5

Rider / {138

Correct Answer:- Rider / 88T

118

are used for the pipes laid in rivers with uneven bed.

sifSrafie FeE ardh Rt N
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a) Mechanical joint / TiTeh S8e
b) Flexible joint / maﬁ"?
¢) Socket joint / ﬁ%‘é‘ﬁg‘f
d) Spigot joint / TATSINE FAlST
Correct Answer:- Flexible joint / FolfaFael STigc

119. If Pis the weight of a prismatic bar and L is its length, what is the deflection of the bar due to self weight if

AE is the Axial Rigidity:-
Ife v NTSHY SR T HR P U 3T JaTS L, A T39I & Toled W g1 aTol [STFler2let ST HTT FAT T (Afe
AE & TEaT)?
a) PL/AE
b) 2PL/AE
c) PL/8E
d) PL/2AE

Correct Answer:- PL/2AE

120. Insmooth pipes, if R represents Reynold's Number, Friction factor for turbulent flow is given by:-
frehat a1g 9 A, TS R Yeiles HEAT AT, o TXEGRIT FETd o] BT A[0TIh FATEIAT &2
a) 0.64/R
b) 64/R
c) 0.316/R%
d) 0.316/R%
Correct Answer:- 0.316/R%

121. Surface profile of a forced vortex flow is:-

PAA HR TEA I EPANPEST gl
a) Straight line / T @
b) Ellispe / &reiged
¢) Hyperbolic/ m
d) Parabolic / Rad &
Correct Answer:- Parabolic / 9Tda e

122. The following figure represents:-

ﬁmgwﬁ?wuaﬁiam%:-
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a) Stretcher bond / T&TRX Y
b) Header bond / 88X &

) English bond / e ats
d) Flemish bond / FATE2r 1
Correct Answer: - Flemish bond / Fif&r s¢r

123. The pH of water used in concrete must not be less than:-
FPCHIGAHIpH_ WA HAAG gl dATMg ]
a) 74
b) 7
c) 6.6
d) 6
Correct Answer:-6

124. The excess of silica the cohesion between earth particles.
FfreRT 0 J1fRIehelT 337 it &5 AT e Y &
a) highly increases / dgd SdIGT garcar
b) slowly increases / X &R F&rdr
¢) does not affects / THITAd gl shlal
d) destroys / dSC &h{
Correct Answer: - destroys / sT%€ &h{

125. For 1* class bricks, the water absorption capacity should not be more than _of its weight.
1+ FelTg ST 3 UT BiEey 1 87T 35S oo & GERICEEEISIHY
a) 10%
b) 20%
c) 30%
d) 40%
Correct Answer:- 20%

126. Excess of is responsible for brick's decay.
$C & &7 & folT &1 3fAremar TR 81
a) Magnesia / HIATRAT
b) Alumina/ Uﬂja?ﬂ

c) Lime /dSH
d) Ssilica / f&forRT
Correct Answer:- Magnesia / HIA1T21T

127. The least horizontal dimension of plain concrete pier should not be less than of its height.
T ToleT Shehie TIIR T ~gaad# &1t oiaTs 3T Fars & T HH el glell T
a) 1/2
b) 1/8
¢ 1/12
d) 1/16
Correct Answer:-1/12
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128. Radius of visible horizon from top of a 134 m light house will be:-

Teh 134 m 3 oIS §13H U fe@a arel faiferst T gdr grat

a) 44.62 km
b) 54.5km
c) 87.44 km
d) 89.67 km
Correct Answer:-44.62

129. Shear and bond stresses of Simply Supported slabs is usually:-
AT Tl T RIR e 15 TH FAIT: g &l
a) zero/ YT
b) verylow /dgd &H
c¢) moderate / AT
d) high/3=d
Correct Answer:-very low / ag?ram

130. Adqgueducts are designed to carry of full supply.
ST qUT HCeTS fAreiRoT FXet ¥ Fer STl
a) 10%-25%
b) 25%-50%
c) 50%-75%
d) 100%
Correct Answer:- 50%-75%

Page 27

131. In method of plane table surveying, maximum number of ground measurements are made.

ColeT el HASTuT &hT farr 2 gy 3 I138 A fFT I

a) Radiation/ e

b) Intersection / SEIHFLUT
c) Resection / R&eer
d) Traversing / Trafaer
Correct Answer: - Radiation / <IZ0T

132. In a ductile material, post elastic strain is .
U I UeTy &, 3701 Yo Jelrd grar gl
a) 1%
b) 2-3%
c) 3-5%
d) greater than 5% / 5% & 31f¥h
Correct Answer: - greater than 5% / 5% & 310k

133. Yield of well will be if permeability of the soil is more.
e FeT I IR T &, Tl HT I 3uST gIa
a) zero/ YT
b) less/hH
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¢) more/ AF
d) uncertain / 3faaa
Correct Answer:- more / 3T

134. The most important salt that causes incrustation is:-
W §14 & fIT T Ageaqut arast grar g
a) Calcium Carbonate / FiogH FEae
b) Sodium Chloride / HfSTH FISS
c) Sodium Carbonate / afegH Fefae
d) Calcium Chloride / HTeIH FaREs
Correct Answer:- Calcium Carbonate / oI STefac

135. When a spring is cut into two parts, then for every individual part the stiffness becomes:-
I fordT &Rt 1 &) SeR 41197 & [eniora fohar STar &, a 83 81197 3l Behayd (3194) GG
a) Same /GHTA
b) Double / ZIT=AT
¢) Half / 3Telr
d) Fourtimes / THAT
Correct Answer:- Double / GIT=AT

136. For laminar flow conditions in saturated soils, the rate of percolation is the hydraulic
gradient.

Hod e & AR Fg1a & forw, Rwmg #r a3 s yaorar & gl gl
a) directly proportional to / 'QTH'I?!FIT-ﬁ
b) inversely proportional to / almﬁ
c) directly proportional to the square of / gar a:ammpﬁr
d) inversely proportional to the square of / ai‘ra};c—q,m@m?ﬁ
Correct Answer: - directly proportional to / STeaTcHT

137. The stone is said to be high if the toughness index of the stone in the impact test is:-
gl T ITTOT TETA 8T STl &, TTe FATHTS STe H TETeT T FRAHSTIT IO graTg |
a) Lessthan9 /9 ¥ HH
b) More than9 /9 ¥ SITET
c) Lessthan19/19 §&HH
d) Morethan19/19 ¥ F1er
Correct Answer:- More than 19 / 19 ¥ STET

138. Tacheometric distance formula, D=f.s/I +(f+d) is applicable only when line of sight is and staff is
held truly ;
ChIATEE gl BT, D=F.5/I +(f+d), THT AT § ST9 e 1@1 8 3R T ot 2

a) horizontal, horizontal / 37&frr, 378t
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b) horizontal, vertical / 3781, GFeiaT
¢) vertical, vertical / oTFddd, oTFddd
d) vertical, horizontal / SFadd, 37&fIr
Correct Answer: - horizontal, vertical / 37&f1I, J&gaa

139. is only suitable for small bunds or thin arch dams.
Tt BIE A 3rerar Terel 317k a1er 3 forw 3ugFa 8|
a) Straight Drop Spillway / QEETCTT?QH?
b) Ogee Spillway / ajﬁwﬁqaﬁ
c) Shaft Spillway / Qe ol
d) Side Channel Spillway / TTSE sTel FETold
Correct Answer:- Straight Drop Spillway / T&€ 319 feqera

140. Which of the following defects in timber is caused by growth of layers over wounds left after the branches
been cut off?

QTG & e FATet & §1G I & FUL G dTell I § feFai 7 3c5e<1 glet aTel IV I FIT gl AT o?
a) Rind-galls / REaew
b) Rupture / TCaX
¢) Twisted fibres / gﬁmm
d) Knots / Alc
Correct Answer:- Rind-galls / Rg aeq

141. Indetermining the bearing capacity of piles, empirical factor C is assumed for drop hammers.
IS T TRrTRaT &THT oA Tell ofaiie] &, 35--ehel A[UTish C T AT 319 gFR 8] [ERIEICIE
a) 0.25
b) 1.5
¢ 25
d) 35
Correct Answer:-2.5

142. Gauge pressure has _value.
ST ST ST AT grargl
a) zero/Yed
b) positive / Fellcden
c) negative / FUTIcHSD
d) zero, positive or negative / U, HolTcHh 3TUdT FHUMcHD
Correct Answer:- zero, positive or negative / e, HsllcHh 3T R UMcHD

143. Number of independent elastic constant for orthotropic materials such as wood is:-
STheT S 3T UeTit & Tadd Salfece TR I TE&AT LI
a) 2
b) 9
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c) 14
d) 21
Correct Answer:-9

144. Wateris termed as sweet, if the value of TDS is less than:-
fe T8I0y &1 AT T HH G, dl 3T 9T I HIST el ATl 8l

a) 1000
b) 1500
c) 2000
d) 3000
Correct Answer:-1000

145. The chemical name of calcite is:-

SedIsSe I T (e AT grargl
a) Calcium Carbonate / eI HIafae
b) Calcium Chloride /WWW@E’
c) Calcium Fluoride / T2 IH FARIES
d) Calcium Sulphate / ShTeRIH Tlhe
Correct Answer:- Calcium Carbonate / $TeRIIH FIafae

146. Vorticity of a fluid is equal to:-

forddt g < AIfEfaeT s AT
a) Rotational component / HPﬁWW*WE’IﬁT%
b) Half the rotational component / E‘I\UﬁﬁBFTEFF FTUTEIATE
¢) Double the rotational component / E‘I'\Uﬁir WTHWTE’I?—IT%’
d) One fourth the rotational component /Wmﬂﬁmm?’
Correct Answer:- Double the rotational component / EI‘:UﬁWBFTW@HTﬁHT%

147. Due to water logging of an area:-
fordd 813 7 ST 811 & HROT:-
a) Soil temperature falls / EEFHWWT%'
b) Salt content decreases / WWWBTGHFIT%
¢) Carrying out cultivation operations becomes easier/a‘lﬁ?—ﬂ'dﬂdl 3THA E-'Toildl ?’

d) Decrease in wild vegetation is observed / STaTel gerEafaat F Har W ST &
Correct Answer:- Soil temperature falls / L CUGIEE T PTRdTg

148. The unit of strainis

dea hrsae grdr gl
a) m
b) m?
c) m!

d) strain is dimensionless / J=ITd §ehTS Tag It gIcil &
Correct Answer:- strain is dimensionless / T=ITd 3513 fagIA 2T &
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149. In Unconfined compression test of a soil, it is assumed that

HET & HeAhhigs gard GeTor H, 3 At forar Srar g, o w3+ dhrarfer

a) no/=@r
b) 30%
c) 70%

d)

100%

Correct Answer:- no / dgr

150.

Uocd Il eXaIge

a)
b)
c)
d)

Pelton Wheel turbine is:-

gl

High head high discharge turbine / 3T 1Y 3= §819 &XaT8A
High head low discharge turbine / maﬁﬁmmmﬁﬁ
Low head high discharge turbine / fa%<T 2§ 3= 9gT9 exams
Low head low discharge turbine / ﬁﬁraﬁ#ﬁmmm

Page 31

moisture is lost.

N - 1

Correct Answer:- High head low discharge turbine / 3% 2 fae=1 sigTd e<amss

Non-Tech:-Reasoning

151. Find out the value of log,,10 / log,,10
108:10 / 1081410 T HTeT ATT X
a) 1
b) 10
c) 100
d 0
Correct Answer:-1

152. Insert the correct number in order to complete the given series.
&1 g% AT U7 T 8] Tl TEAT & TIA |
7.8 T L — .30
a) 14
b) 16
c) 18
d) 20
Correct Answer:- 20

153. The sum of two numbers is 18. If their product is a prime number, the ratio of larger number to smaller is:-
&l TEATHT T TNeT 18 § | Ffe IoTehl I0TA ST Ueh TS HEAT ¢, Al IST HEAT T BIET HEAT A eIl F4T

gIam?
a) 13/5
b) 4
c) 17
d) 1
Correct Answer:-17
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154. Identify the pair which is different from the other given pairs.

3H SIS T Il SRSV ST & €% 3 3T & e &
1-8, 2-27,3-81, 4-125

a) 1-8

b) 2-27

c) 3-81

d) 4-125

Correct answer: - 3-81

155. In this question, there is a certain relationship between two given numbers on one side of (: :) and one number
is given on another side of (: :)while another number is to be found from the given alternatives,having the same
relation with thisnumber as the numbers of the given pair bear. Choose the correct alternative.

fAeafoaf@a et &, g () & T o o T&I13 # Ueh TRy dFeey ¢ 3R e (: ;) Frgal IR v
m&g%,%mmmmmmmﬁmﬁﬁmwmmmﬁaqa'g?rﬁrﬁcrﬁ
ﬂ_.,iat'l

63:7::72:?

a) 6

b) 7

c) 8

d) 5

Correct Answer:-8

156. Inthis question, there is a certain relationship between two given numbers on one side of (: :) and one
number is given on another side of (: :)while another number is to be found from the given alternatives,having
the same relation with this number as the numbers of the given pair bear. Choose the correct alternative,

iamiaiaﬂmﬂfﬁ,ﬁﬁ(::)*WWﬂﬂlﬁalﬁﬁWmﬁﬂﬁrﬂ %mﬁﬁ'(::}ﬁ{ﬂffmw
Mﬁgé%,mmmwmmm%mﬁmﬁﬁmwﬁﬁqﬁaﬁaa'g?rﬁﬁcra:‘r
gfaT|

36:42::7:6

a) 1

b) 2

c) 3

d) 6

Correct Answer:- 1

157. Introducing Tina to guests, Chirayu said, " Her mother is the only daughter-in-law of my father". How is Tina
related to Chirayu?

ﬁmﬁ#ﬁquﬁﬂwm?, TR =¥ g, "SHehT AT 7Y AT T geheilcll ag 8| Erer ahr oy & &/ am
TFEr g?
a) Niece / #dIsiT
b) Grand daughter / 9TdT
c) Mother /ATl
d) Daughter/afl'
Correct Answer:- Daughter / ST
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158. What isthe 11" term of a given series: 84,78,72,....
&Y It Aot T 1197 IS FATEIIM:84,78,72,....
a) 24
b) 28
c) 32
d) 34
Correct Answer:-24

159. What will be the next term in the series?

&Y g% AT T 31Tl e, 4T g1am?
ABDE, CDFG, EFGH, FGIJ ?
a) ABDE
b) CDFG
c) EFGH
d) FGl
Correct Answer:- EFGH

160. Find out the value of 256/16+16X16-16 /256/16+16X16-16
256/16+16X16-16 /256/16+16X16-16 3T AT AT HY |
a) 256
b) 16
c) 234
d) 240
Correct Answer:-256

161. Aarohi moved some distance towards South. She then took a right turn and moved 12 km ahead. She is 13
km from her initial position. How much distance she moved towards the North?

IRIET o ST&T0T hT 3R o g1 7 ). g ardl 3R HSHT 12 km T Tell. T Tl &I foig & 13 km T

g 9T B I8 SFaToT Y AR el g dr e
a) 7km
b) 9km
¢) 5km
d) 12km
Correct Answer:-5 km

162. Ifin a certain code, 6723 is coded as 8901, how is 2435 coded in that language?
379 forddY et T 3 6723 &Y 8901 For@T SATAT &, At 3¢ o179 7 2435 Y fahe vk for@r s

a) 2523
b) 4623
c) 2513
d) 4613
Correct Answer:- 4613

163. What is the 5" term of the series: 6, 18,54....
&1 g< Arofy &7 5a7 9 FATIM:6, 18,54....
a) 81
b) 182
c) 243
d) 486
Correct Answer:-486
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164. |If product of two numbers is 81, product of their LCM and HCF will be:-
Ife &Y AT T I[UTAH 81 & A 3e7sh LCM Te HCF 3T I[UTeT el AT GIaTT?
a) 3
b) 27
c 9
d) 81
Correct Answer:-81

165. Pointing towards a girl, Gitesh said, " She is the only daughter of my daughter-in-law". How is the girl related
to Gitesh?

wag@raﬁraﬂrsﬁmmgmﬁé‘erﬁm, "TE P S T UHAE SET & | TN T oT5ehT § FIT T et g7
a) Daughter /ST
b) Niece / dliT
c) Sister / dgel
d) Grand daughter / 9rdt
Correct Answer:- Grand daughter / 9icit

166. Inthis question, there is a certain relationship between two given numbers on one side of (: :) and one
number is given on another side of (: :)while another number is to be found from the given alternatives,having
the same relation with this number as the numbers of the given pair bear. Choose the correct alternative.

frafafaa wal &, e (: ;) % v Re ar Gl & vs TRy gFaru g IR Reg () Frgai 3R s
ﬁ@Ta“rgé%,aﬁslﬂs{qﬂ{HHHruEﬁﬁmmwsﬁﬁm@ﬁﬁqﬁaﬁﬁﬂﬁﬁﬁqaﬁ
ﬂamt'l

2:16::7:81

a) 1

b) 27

c) 3

d) 9

Correct Answer:-3

167. 625 isrelated to 24 in such a way that 169 is related to:-

625, 24 T E1eh 3N G el BT & ToTH TR 169 A ATEITE
a) 17
b) 144
c) 12
d) 13

Correct Answer:-12

168. Insert the correct number at the place of question mark.
TeIfteg I S8 Tal TEAT T IA oY |
3,11,31,?,131

a) 108
b) 69
c) 86
d) 97
Correct Answer:-69
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169. Solve for x and y: 2x+3y=31; 4x+3y=41. The value of y is:-
X ATy F RATgT R 2x+3y=31; 4x+3y=41. y T HIT FIT GIIT?
a) 3
b) 2
c) 5
d 7
Correct Answer:-7

170. Ifin a certain code, PICK is coded as ICPK, how is SOAP written in that code:-
39X ToRET FaRIw 18T & PICK T ICPK for@r SATAT &, AT 3ET $1TST 3 SOAP & fohd Wehie Tel@r SIT9Tm|

a) POAS
b) SOAP
c) OASP
d) OSAP
Correct Answer:-OASP

Non-Tech:-GK

171. Which of the following airport has recently been awarded as the best tourist friendly airport of India?
ETel &1 &, o6 §aTg 3183 T 91X & Halle# Tdeeh & eTshel gaTs 3752 h TEEHN AT E3HT?
a) Lucknow / STEAS
b) Bhopal / 9Tl
) Tirupati / fagafa
d) Bhubaneswar/ﬁjaﬁﬁaT
Correct Answer:-Tirupati / faeafar

172. According to NITI Aavog Index , which of following is most favourable state for farmers?

AT AT Gaai & AR, Fota=t 7 < et 1 U Tt & Forw Haey 31Tl 62
a) AndhraPradesh / 3TTSTIRT
b) Rajasthan / ToTTUT

¢) Maharastra / HgRIST
d) Odhisa /3814
Correct Answer:- Maharastra / #GRISC

173. Which Bollywood personality will be honoured with a Lifetime Achievement Award at the 2016 Dubai
International Film Festival (DIFF)?

sieltgs & farer 31frad/31faaa &1 2016 ga8 HRTET Rer HGIHT (DIFF) 7 ASHEH Jfasic [EHR
H gFATAA foRar T
a) Rekha/{®@r
b) Dilip Kumar/ﬁﬁqw
¢) Amitabh bachchan / 3fHAdTsT g
d) Jeetendra/Eﬂﬁa’
Correct Answer:- Rekha / 3@&T
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174. Arrange the following cities in ascending order starting from East to West of India: Tawang, Lumding,
Kalimpong, Lalitpur, Alirajpur,Mehsana:-

T R U [ YA §U ST 3 3T A 1 AR T 3R TGt 5 F G 19T, AT, Hfordiar,
a) Tawang-Lumding-Kalimpong,-Lalitpur-Alirajpur-Mehsana / TalaT-c[H SaT-sh fedTaT- ST frdqR- 3TeMRTSTIR-
Hedr=T
b) Lumding-Tawang-Kalimpong,-Lalitpur-Mehsana-Alirajpur / FHTSaT-cTaTaT-hforGla-of TR AEHTT-
KNy

LY

¢) Kalimpong-Lumding-Tawang--Lalitpur-Mehsana-Alirajpur / F{eIFaIaT-[H S T-cTala]- AT AEHTe-
KIS

A

d) Kalimpong-Tawang-Lumding-Lalitpur-Mehsana-Alirajpur / aﬁ»‘rmmaam@ﬂ%waﬁagr AT
IRSTIR

Correct Answer:- Tawang-Lumding-Kalimpong,-Lalitpur-Alirajpur-Mehsana / HHﬁT-@ﬂ%:ZT—mF@i?TﬂﬁﬁgT—
3RS Aedr=T

175. BRICS Summit 2016 took place at:-

e TFAI 2016 H Fgl AT FhdT IT?
a) Bangaluru/éﬂﬂ;&
b) Goa /3mar
¢) Raipur /TI9X
d) Lucknow / T&eS
Correct Answer:- Goa / 3TaT

176. India recently defeated to win the Asia's Hockey Champions trophy.
HEHEREEGGE FI g e UIAT glehT ATATH THT T ST forT|
a) China /e

b) Pakistan / OTferEdTel
¢) South Korea / &T&I0T 1T
d) Bangladesh / STaeIeer
Correct Answer:- Pakistan / 9Ifeh&dTeT

177. Recently, which cricketer became the fastest to complete 7500 runs in ODI cricket?
gTol 81 #, Uehfeadiid fhehe # Hl dsT 7500 ToT SaTel aTel fohehe hle &t 82
a) Hashim Amla / TR 37T
b) Virat Kohli / faTre igelr
¢) Kane Williamson / & Taforaaaa
d) Rohit Sharma /ﬂ'ﬁb?l'ﬁl?l‘l'
Correct Answer:- Virat Kohli / Ta3Te sigelr

178. Noble Prize 2016 for Peace has been won by President of:-

oMifer & foIT Aitaer RESR ford 21 3 Tsgufa &1 YT fohar rar g
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a) Columbia / ShTATeT
b) Kenya /sheaT
¢) South Africa / &f&T0T 3T5hTeRT
d) Sudan/HglsT
Correct Answer:- Columbia / TeiTaT

179. The 12" edition of International Qil and Gas Conference and Exhibition "Petrotech-2016" will be held at

IHAWSERT e UG 317 ToereT 3R Teelalt & 12 d HEhIor "I eh-2016" 7 AT feRar Srea|
a) Tehran / dglel
b) Dubai/ge%
c) New Delhi/ F—lé’ﬁﬁ?l’
d) Kabul / =hTeeT
Correct Answer:- New Delhi / 7% fealr

180. LinkedIn has signed an MoU with which union ministry of India to create jobs for students?

foFsse & 3R & g e AT & TTY, BT F TU Asiel1L & AT IeT e & 32T W FHST A9
R EEATER fFarg?
a) Ministry of Skill Development and Entrepreneurship / mmﬁwwmpﬁmw
b) Ministry of Home Affairs / 3]g HIATHT
¢} Ministry of Women and Child Developmenit IH%FITWW%WW
d) Ministry of Human Resource Development / HTeld T a1 HIATTT
Correct Answer:- Ministry of Human Resource Development / HTdd AT fdehrg AT

181. Which of the following gases is mainly responsible for acid rain?

Freer st 3 fore fovet % & torel 917 a7 W & R 7
a) Nitrogen / ATSCIoTl
b) Carbon di oxide / &Il 35 ﬁ)ﬁ'\q@_&!’
c) Sulphurdi oxide/'\':lmﬁém
d) Hydrogen sulphide / BIS3I5Te HohISs
Correct Answer:- Sulphur di oxide / %R TS 3TFASS

182. Indus Water Treaty between India and Pakistan was signed in the year:-
HRA 3R ITferEaTet & airer ey STor Gfer vy o o geamer fhu arw 2

a) 1947
b) 1960
c) 1967
d) 1999
Correct Answer:-1960

183. "Aware and Care" the health awareness campaign has been launched by which state government?

"3 AR AT T F G SRTERAT ITRAT, et T TR @ & T a1s 82
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a) Madhya Pradesh / €T 92T

b) Chhattisgarh / BcaldeTe

¢) Punjab / 9T

d) Uttar Pradesh / 3caX 92l
Correct Answer:- Punjab / 93TTel

184. Who is the Union Minister of India for Information and Broadcasting?
R & AT FIAT UG THROT HAT leT &2
a) M.Venkaiah Naidu / TH. é%mam;
b) Prakash Javdekar / JehTI SITASHT
¢) Ravishankar Prasad / TTaieh] 9TG
d) Arun Jaitley / 3750T Seell
Correct Answer:- M.Venkaiah Naidu / TH. dehaT 13

185. "The World Diabetes Day" is observed every year on .
"faeg ALHE fgaa T gL ATl AATIT AT & |
a) October 12 / 3{¢aX 12
b) November 4 /dAdFe 4
¢) November 14 / d9Fs 14
d) November 15 / dAdFs 15
Correct Answer:- November 14 / "dF&X 14

186. As per year Statistical Review of World Energy 2015, India is the largest producer of coal in the
world.

ferea oAt WifThTr Fotatr aw 2015 & He{AR, HRA GfetdT T T F3T HIIAT 3cUTGh G2 & |
a) 1" /9gel
b) 4* /=t
<) 6" /T3
d) 8" /3maar
Correct Answer:-4" /@27

187. Which of the following agricultural revolutions in India was focused on the technological changes in the meat
and poultry processing sector?

R H fRrafafla F¥ wifadt & e, a1 A 3R Aol THERr 873 7 aehstieh IRads W Hiegd AT
a) Blue Revolution / ATl I
b) Yellow Revolution / Aol ifay
c) Pink Revolution/ﬂﬂlﬂ’l’?ﬁiﬁ
d) White Revolution / e Hifa
Correct Answer:- Pink Revolution / Elﬂﬁﬂ'ﬂﬁ
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188. Number of total recognized languages in India is:-
R A ol AT e ST A aear g
a) 26
b) 22
c) 28
d) 29
Correct Answer:-22

189. The Birth anniversary of Sardar Vallabh Bhai Patel is observed on:-
HIER Toote] 8118 Yool hl T fh e et Hars ST &2
a) October 31 /31 3egsX
b) November 1 /1 ddFeT
c¢) November 2 /2 ddFal
d) November 4 /4 dTdFs{
Correct Answer:- October 31/ 31 3feFgeX

190. India's first indigenous electric bus has been manufactured by:-

ST T Tl TRl Tl ey v T it e s 4
a) Mahindra / &fggr
b) Ashok Leyland / 37201 ool
¢) Force motors / B Ay
d) Tata/<Ier
Correct Answer:- Ashok Leyland / 3721 oliel

Non-Tech:- %ﬁ cqTh 0T

191. "Ye[SCHhR T HIY- [aede FaTg|
a) e+ THN
b) H?_-[:+E'_°FET
C) UH +THN
d) el +EHR
Correct Answer:- &: + ZhR

192. ore =i ereq & (el o 970721y, e 3n1fe; 1 alrer g &, 3§ FEd &
a) Srfaaraes Ga1
b) Fegaras Har
c) HTaards §aT
d) HegaTaH HA

Correct Answer:- $Taarde T

193. 3TRT & 37 arelm FgAdT g |
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a) I gFaT

b) TAX

c) framR

d) IeTeTgFEs
Correct Answer:- #T8IX

194, fAFAfT@T & & 91T & € ®9 1 T HIfAT|

Page 40

a) TATIArY 2l & 3 H HHATAAT BIci! ¢, elfehed Tcdieh 2TeG hl AT TARNSAT &l &
b) TG 2Teg & 372 I FHATAT &1 &, oifehed Tcdieh QeqT I 3T faRIScil 2l &
c) TATIETHY et & 37 H TATAT &ldT &, SHfehel Ucdeh 2Teg] &7 379! @219 dTi aldT &
d) gITaTHY ereet & 312 F HATAT gAY &, AfeheT Uedeh Qreg &7 39T faRIvar giar &
Correct Answer:- JATIaTHT eTeq T & 3127 & THTAT &Il &, ol fehed Tcdes 25 hi 39T [AATargrar g

195, "W e HAHA |
a) 3
b) 33T
c) 3T
d) o=
Correct Answer:- 3@

196. HR-AT IHT ST AT,
- a1 S 8 forger A

Suderd dfed 7 i A1 3o fAfga
a) 3qurE
b) IHAF
c) 39AT
d) ¥4
Correct Answer:- 39T

197. g1 | "W &1 gAY AT g ?
a) gur
b) T
c) dHH
d) g
Correct Answer:- §Hr

198. ‘'Helger H HlT-Ar @R |
a) &
b) TR
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c) S
d) &t
Correct Answer:- fa&eT

199. fawrAfafld # St et fudraris 781 & 39 T+
a) fe-ua
b) afsmT - 3T
c) I -3er
d) g -&H
Correct Answer:- &3 - &&

200. 3o el H U e MG T T HY |
a) 3ITHEHAF
b) 3TeRTEHIR
c) JTHITEcHS
d) feafas
Correct Answer:- 31T {&HS
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